



(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

Type 1:

RHS =
$$e^{q \times x}$$

Replace D by a.

$$\overline{U}$$
. Solve $(D^2+1)g = e^{-\chi}$
Soln.

The Auserlancy eqn. is
$$m^2 + 1 = 0$$

$$m^2 = -1$$

$$m = + 1$$

i. The loots are groupginary.

$$CF = e^{0x} \left[A \cos x + B \sin x \right]$$

$$CF = A \cos x + B \sin x$$

$$PI = \frac{1}{b^{2}+1} e^{-x}$$

$$= \frac{1}{(-1)^{2}+1} e^{-x}$$

$$= \frac{1}{a} e^{-x}$$

$$PT = \frac{e^{-x}}{a}$$

.. The soln. Is
$$y = Cf + PI$$

 $y = A \cos x + B SPn x + \frac{e}{a}$







(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

8.]. Solve
$$(p^{0}+hp+h)y = 11e^{2x}$$

Soln.

The aunslawy eqn. 50 , $m^{0}+hm+h=0$
 $(m+y)^{2}=0$
 $m=-2,-2$

The mook are mad and hame.

 $CF = (A+Bx)e^{-2x}$
 $PI = \frac{1}{1}$
 $p^{0}+hp+h$
 $= 11\frac{1}{4-B+h}e^{-2x}$
 $= 11x\frac{1}{2D+h}e^{-2x}$
 $= 11x\frac{1}{2D+h}e^{-2x}$
 $= 11x^{0}\frac{1}{2}e^{-2x}$
 $= 11x^{0}\frac{1}{2}e^{$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

AE

$$m^2 - 2m + 1 = 0$$
 $m = 1, 1$
 $CF = (A + Bx)e^{x}$
 $PT_1 = \frac{1}{D^2 - 2DH} e^{x}$
 $= \frac{1}{2} \frac{1}{1^2 - 2(D)H} e^{x}$
 $= \frac{x}{2} \frac{1}{2D - 2} e^{x}$
 $= \frac{x}{2} \frac{1}{2D - 2} e^{x}$
 $= \frac{x}{2} \frac{1}{2D - 2} e^{x}$
 $= \frac{1}{2} \frac{1}{(-D^2 + 2(-1) + 1)} e^{-x}$
 $= \frac{1}{2} \frac{1}{(-D^2 + 2(-1) + 1)} e^{-x}$
 $= \frac{1}{2} \frac{1}{(-D^2 + 2(-1) + 1)} e^{-x}$

The general Soln. is

 $y = cF + PT_1 + PT_2$
 $y = (A + Bx) e^{x} + \frac{x^2}{4} e^{x} + \frac{1}{8} e^{-x}$

Scanned with CamScanner





(An Autonomous Institution) Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

Linear ODE with constant coefficients

Type 8:

$$RHS = Sqn(ax + b)$$
 a
 $cos (ax + b)$
 $Replace p^2 \rightarrow -a^2$
 $J. Solve (p^2 + 3p + 2)y = Sqn 3x$
 $Soln.$
 $Cf m^2 + 3m + 2 = 0$
 $(m+1) (m+2) = 0$
 $m = 1, 2$
 $Cf = A e^2 + B e^{2} \times PT = 1$
 $p^2 - 3p + 2$
 $rac{1}{2} - 2p + 2$

CS Scanned with [-3 (3) cos 3x +7 89, 3x]
CamScanner 130





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

$$= \frac{1}{I^{2} - 3(n + 2)} = 2e^{2x}$$

$$= x \frac{1}{2D - 3} = 2e^{2x}$$

$$= x \frac{1}{2(1) - 3} = 2e^{2x}$$

$$= \frac{x}{2(1) - 3} = 2e^{2x}$$

$$= \frac{x}{2(1) - 3} = 2e^{2x}$$

$$= -2xe^{2x}$$

$$= -2xe^{2x}$$

$$= -2e^{2x} + Be^{2x} - \frac{1}{2e} \left[BS^{2}n(Rx + 3) + R\cos(Rx + 3) \right]$$

$$= -2xe^{2x}$$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

$$\begin{aligned}
&= \frac{1}{2\times(500)} \left[20\cos 4x + 10\sin 4x \right] \\
PI_1 &= \frac{-1}{+100} \left[2\cos 4x + 89n + 4x \right] \\
PT_2 &= \frac{1}{2} \left[\frac{1}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{1}{2} - 4 + 5D + 6 \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \sin 2x \right] \\
&= \frac{1}{2} \left[\frac{5D - 2}{2} \cos 2x - 89n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[5\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 4x + 69n + 4x \right] - \frac{1}{104} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right] \\
&= \frac{1}{100} \left[2\cos 2x - 69n + 2x \right]$$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS





(An Autonomous Institution) Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

Linear ODE with constant coefficients

Type 3: RHS =
$$x^h$$

1). $(I - D)^{-1} = I + D + D^2 + D^3 + \cdots$

2). $(I + D)^{-1} = I - D + D^2 - D^3 + \cdots$

3). $(I - D)^{-2} = I + 2D + 3D^2 + 4D^3 + \cdots$

4). $(I + D)^{-2} = I - 2D + 3D^2 - 4D^3 + \cdots$

U. Solve (DP+2)y - 22 801n.

AE
$$m^{2}+2=0$$

$$m^{2}=-2$$

$$m=\pm\sqrt{2}i$$

$$\alpha'\pm i\beta \Rightarrow \alpha=0, \beta=\sqrt{2}$$

$$PI = \frac{1}{D^2 + 2} \times^2$$

$$= \frac{1}{2\left[1 + \frac{D^2}{2}\right]} \times^2$$

$$=\frac{1}{2}\left[1+\frac{D^2}{2}\right]^{-1} \times^2$$

$$= \frac{1}{2} \left[1 - \frac{p^2}{2} + \frac{p^4}{4} - \cdots \right] \times^2$$
$$= \frac{1}{2} \left[1 - \frac{p^2}{2} \right] \times^2$$

$$= \frac{1}{2} \left[x^2 - \frac{p^2 x^2}{2} \right] = \frac{1}{2} \left[x^2 - \frac{2}{2} \right]$$







(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

2]. Solve
$$(p^{9} + 3p + 2)y = x^{2}$$

Solve

AE $n^{3} + 3m + 2 = 0$
 $(n_{2} + 1)(m + 2) = 0$
 $m = -1, -2$
 $CF = Ae^{x} + Be^{-2x}$

PI = $\frac{1}{2} \int_{0^{2} + 3p + 2}^{2} x^{2}$
 $= \frac{1}{2} \left[1 + \left(\frac{p^{2} + 3p}{2} \right)^{-1} \right] x^{2}$
 $= \frac{1}{2} \left[1 - \left(\frac{p^{2} + 3p}{2} \right) + \left(\frac{p^{2} + 3p}{2} \right)^{2} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{p^{2}}{2} + \frac{qp^{2}}{4} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{p^{2}}{2} - \frac{3p}{2} + \frac{qp^{2}}{4} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{p^{2}}{2} - \frac{3p}{2} + \frac{qp^{2}}{4} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{2}{2} - \frac{3(2\pi x)}{2} + \frac{qp^{2}}{4} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{2}{2} - \frac{3(2\pi x)}{2} + \frac{qp^{2}}{4} \right] x^{2}$
 $= \frac{1}{2} \left[x^{2} - \frac{3}{2} x + \frac{7}{2} \right]$
The Solo. q_{5} , $y = c_{5} + p_{5}$

Scanned with $e^{2x} + \frac{1}{2} \left[x^{2} - 3x + \frac{7}{2} \right]$





(An Autonomous Institution) Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

Type-4

$$RHS = e^{ax} \phi(x)$$
 where $\phi(x) = Sgn bx og$
 $cosbx og$

Replace $D \rightarrow D + a$

J. Solve
$$(D^{8}_{-}+D+3)y = e^{x} \cos 2x$$

Soln.

 $m^{8}_{-}+m+3 = 0$
 $m=1, 3$
 $qf = Ae^{x} + Be^{3n}$
 $pT = \frac{1}{D^{8}_{-}+D+3} = e^{x} \cos 2x$
 $= e^{x} \frac{1}{D^{8}_{-}+D+3} = \cos 2x$
 $= e^{x} \frac{1}{D^{8}_{-}+D+3} = \cos 2x$
 $= e^{x} \frac{1}{D^{8}_{-}+D+3} = \cos 2x$
 $= e^{x} \frac{1}{D^{8}_{-}+D-4D-4+3} = e^{x} \frac{1}{D^{8}_{-}+D-4D-4+3} =$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS





(An Autonomous Institution) Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

Linear ODE with constant coefficients

Solven that
$$(D^{2} + 4D + 4)y = xe^{-2x}$$

 $Coln$.
 Co

Hw J. Solve
$$(D^2 + 4D + 4)y = e^{2x}$$

3J. Solve $(D^2 + 4D + 4)y = e^{-2x}x^2$
3J. $(D^2 + 4D + 4)y = e^{-2x}$ SPn x

Type-5

Case 1: RHS =
$$\frac{1}{2}$$
 $\phi(x)$ where $\phi(x) = \frac{1}{2}$ $\phi(x) = \frac{1}{2}$

case 2:

$$BHS = x^n \phi(x)$$

ii).
$$PI = Real Part \frac{1}{f(D)} x^{n} e^{i\alpha x} + \frac{1}{f(D$$





(An Autonomous Institution) Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

J. Solve
$$(B^{0}+A)y = x \operatorname{Sfn} x$$

Soln.

 $m^{0}+A=0$
 $m^{0}=-4$
 $m=\pm 2i$
 $x'=0, B=2$
 $CF=A\cos 2x+B\operatorname{Sfn} x$
 $E=\frac{1}{D^{0}+A}$
 $E=\frac{1}{D$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-II ORDINARY DIFFERENTIAL EQUATIONS

$$= e^{\chi} \frac{1}{D^{2}} \times S9n \chi$$

$$= e^{\chi} \left[\chi \frac{1}{D^{2}} S9n \chi - \frac{\partial D}{\partial A} S9n \chi \right]$$

$$= e^{\chi} \left[\chi \frac{1}{D^{2}} S9n \chi - \frac{\partial Cos \chi}{\partial A} \right]$$

$$= e^{\chi} \left[\chi \frac{1}{D^{2}} S9n \chi - \frac{\partial Cos \chi}{\partial A} \right]$$

$$PI = -\chi e^{\chi} S9n \chi - \chi e^{\chi} \cos \chi$$

$$TRE Soln. 9S,$$

$$Y = cF + PI$$

$$= (A + B\chi) e^{\chi} - \chi e^{\chi} S9n \chi - 2e^{\chi} \cos \chi$$
Scanned with CamScanner